A clear index for
easy navigation.
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Every xmuio is broken up in sections
and titled, so the talmid will be able
to realize the major ideas that will be
learned.
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" when: a. you can read the X210 inside the 73 without any w0 help and b. you are able to explain it " .

in your own words without missing any details.

Punctuate the XA and circle all the prefixes and the suffixes.

........
......

TIRIN PHY 122NN RORIND RNV TR 721D 12 IR P11 1D9RT

The n1dn section guides the talmid to (a claim of) definite -ma

learn independently and gives the tools (4 claim of) perhaps -xnw
for him to self assess.

Does your conclusion make logical sense? Why?

One of the basic steps to be 1¥n in a P7 is to figure out the X120
behind it. One of the ways to do that is by knowing the guidelines
and the circumstances in which the "7 applies.
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What’s the difference?

a. 1287 [ gave you a $2,000 loan. It’s past due, you really have to pay up.
1YNY: How should I know if you gave me a loan, maybe you never gave me one.

b. 123%3: Hey! Your Doberman Pinscher ate my Chihuahua. You owe me $2,000.
1YNWY: Did he really? Maybe it wasn’t my dog that ate it.
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3, 1he talmid must
title every 'oin.
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Whenever the X2 offers 2 D'WIN'S there will be a N1 X791 between them:

%‘ What is the Nn1'm Xj791 between the 2 explanations for *ax?
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Once you feel you have the X2 and ""wN clear, answer these questions. If you can answer them
correctly, you have shown that you have mastered it. If you have trouble answering some questions go
back to your X021 and 27N it once more and try again. Don’t give up!

N. Circle the parts of the X2 that make up "aN’s answer:
e (2 (1@ (3

A. What is the problem with the simple reading of the nmiwn?

A. What nn20n was lacking in "aX’s answer!

T. What is the Nan2a’s main objective?
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@‘If we say, DN 7' 121y, why does the fetus need its own n19d it should be X ANX 7M22?
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Every section has nTnT NIV " 1iny anrnY nivaw

in the back of the textbook. e



Upon conclusion the talmid is
asked to show mastery of what

In your own words write the mipon of the following o*'1n. You must conclude with
a NN in ‘0 nMaw related to the o'11v you have written about.

Your paper should be written clearly and in paragraph form. Do not write it in
points.

Whenever necessary add in the o™ 1x"a from w1, ‘o010 or other o'wan that we
learned.
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